
JOHNNY MARR JAGUAR® (0116400XXX)

COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 1 of 5

Apr 18, 2012 - Rev. B

PARTS LAYOUT

2

6

43

7 8

9

DE
S. 

18
6,8

26
 PA

T. 
2,9

60
,90

0 2
,97

2,9
23

 3,
14

3,0
28

 &
 PA

T. 
PE

ND
.

U
R

A
AG

J

PAT. #2,972,923
ender

V000001

5

15

12

16

18 19 20 21

10

1

43 44

30

31

29

29

11

12

33

26

12

13 14

12

17

32
18 19 20
21 2322

19 20 24 25

28

27

7

34 3635

3937 38 40
41

42

43 44

http://www.fender.com/
http://www.fender.com/


JOHNNY MARR JAGUAR® (0116400XXX)

COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 2 of 5

Apr 18, 2012 - Rev. B

PARTS LIST

REF# DESCRIPTION PART 
NUMBER

1 BODY JOHNNY MARR JAGUAR OWT 0091891505
1 BODY JOHNNY MARR MKO 0091891550
2 NECK JOHNNY MARR JAGUAR RW NAT 0091890000
3 ORIGINAL MACHINE HEADS VINT STRAT/TELE 0992040000
4 VINTAGE TUNING KEY BUSHINGS 0994946000
5 SCREW SMAB 3 X 3/8 RHP NI 0011357049
6 STRING GUIDE NICKEL 0994910000
7 SPACER STRING TREE 62 STRAT 0020423000
8 SCREW SMA 3 X 5/8 RHP NI 0011358049
9 SCREW SMA 8 X 1-3/4 OHP NI 0015636049
10 PICKGUARD 62 JAGUAR W/B/W 0092863000
*11 SHIELD PICKGUARD JAGUAR 0054490100
12 SCREW SMAB 4 X 1/2 OHP NI 0015578049
13 PLATE LEVER SWITCH JOHNNY MARR  JAGUAR CHROME 0091903000
*14 SWITCH 4 WAY 0992250000
15 KNOB SWITCH VINTAGE TELE CHROME 0018359010
16 SCREW M 6-32 X 5/8 RHP ZARTAN CHROME 0021413049
17 PLATE MASTER CONTROL JAGUAR 0054505000
18 KNOB LARGE SKIRTED BLACK 0991370000
*19 WASHER FLAT 3/8 .687 X .065 NI 0016436049
*20 NUT HEX 3/8-32 X 3/32 TK NI 0016352049
*21 CONTROL 1 MEG 10% 0019606600
*22 CAPACITOR CD .01µF 600V 10% 1/2” DIAM 0054504049
*23 RESISTOR CF 1/2W  56KΩ  5% 0047434001
24 JACK PHONE OPEN CIRCUIT 11 0021956049
*25 WASHER FLAT 3/8 X .614 NI 0031153049
26 PLATE PRESET CONTROL DUAL SWITCH JAGUAR CHROME 0091893000
27 SWITCH SLIDE SS 50 DP DT 0017079000
28 SCREW M 4-40 X 1/2 OHP NI 0092976000
29 SCREW WD OH PH # 4 X 1-1/4 NI 0054497000
30 PICKUP JOHNNY MARR JAGUAR NECK 0091723000
31 PICKUP JOHNNY MARR JAGUAR BRIDGE 0091724000
32 BRIDGE ASSY JOHNNY MARR JAGUAR 0091905000

32A BRIDGE POST & CHANNEL ASSY JOHNNY MARR 0091911000
32B SADDLE E-E DYNAMIC VIBRATO BRIDGE 0091084000
32C SADDLE D-G DYNAMIC  VIBRATO BRIDGE 0091085000

NOT PICTURED IN DIAGRAM* =

http://www.fender.com/
http://www.fender.com/


JOHNNY MARR JAGUAR® (0116400XXX)

COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 3 of 5

Apr 18, 2012 - Rev. B

PARTS LIST

REF# DESCRIPTION PART 
NUMBER

32D SADDLE A-B DYNAMIC VIBRATO BRIDGE 0091086000
32E SPRING INTONATION ADJUST 7 COIL NI 0056139000
32F SCREW M 4-40 X 5/8 RHP NI 0015693049
33 TREMOLO ASSY JOHNNY MARR JAGUAR 0091913000

33A BASE PLATE TREMOLO JAGUAR / JAZZMASTER 0054467000
*33B GUIDE PLATE TREMOLO JAGUAR / JAZZMASTER 0054470000
*33C SCREW M 8-32 X 1/4 UHFP NI 0015891049
*33D FLOATING TREMOLO PLATE TAIL PIECE 0054468000
*33E TAILPIECE STIFFENER PLATE TREMOLO JAGUAR / JAZZMASTER 0054469000

34 CHROME LOCK BUTTON TREMOLO 0054474000
*35 WAVE WASHER #6 .170 ID X .385 OD 0054476000
*36 LOCK NUT TREMOLO / LOCK STOP 0054475000
37 SCREW M 8-32 X 1-1/4 PHP NI 0015966000
*38 TREMOLO ACTION SPRING .080 X 6 CO 0019307000
*39 SPRING PERCH TREMOLO 0024992000
40 SCREW M 8-32 X 1/4 THP NI 0015891049
41 TREMOLO ARM SLEEVE / INSERT JOHNNY MARR JAGUAR 0091912010
42 SCREW SMAB 5 X 1 OHP NI 0015610049
43 STRAP BUTTON NICKEL 0994915000
44 SCREW WOOD 6 X 1 OHP NI 0016188049
* CASE JAGUAR / JAZZMASTER BLACK / SILVER BLUE INTERIOR 0093390000
* WRENCH HEX KEY 5/64 SHORT ARM 0061446000
* ADJUSTABLE BRIDGE COVER JAGUAR / JAZZMASTER 0054465000
* TREMOLO ARM JOHNNY MARR JAGUAR W/KNOB 0091912020

NOT PICTURED IN DIAGRAM* =

http://www.fender.com/
http://www.fender.com/


JOHNNY MARR JAGUAR® (0116400XXX)

COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 4 of 5

Apr 18, 2012 - Rev. B

WIRING ASSEMBLY

NECK PICKUP

BRIDGE PICKUP

.01µF

56KΩ

SHIELDING

MASTER 
VOLUME

MASTER 
TONE

4 WAY 
SWITCH

SERIES
BRIGHT SWITCH

2X CAPACITOR
.003µF 20%

BRIGHT SWITCH

.003µF

.003µF

CAPACITOR
.01µF 10%

RESISTOR 
56KΩ 5%

GLAZIER
POINTS

http://www.fender.com/
http://www.fender.com/


JOHNNY MARR JAGUAR® (0116400XXX)

COPYRIGHT - 2012 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 5 of 5

Apr 18, 2012 - Rev. B

SWITCH AND CONTROL FUNCTION

4
3
2
1

4
3
2
1

4
3
2
1

4
3
2
1

SERIES PARALLEL

1 & 2 1 1 1

BRIDGE PU

PICKUP IS ON

PICKUP IS OFF

NECK PU 

4 WAY
SWITCH

POSITION

PAT. #2,972,923
ender

BRIGHT SWITCH (1)
ACTIVE IN  ALL POSITIONS

BRIGHT SWITCH (2)
ACTIVE IN POS. 4 ONLY

VOLUME

TONE

MASTER

MASTER

4 WAY 
SWITCH

NECK PICKUP

BRIDGE PICKUP

BRIGHT 
SWITCH

http://www.fender.com/
http://www.fender.com/

